
	 GEMTrigger Signal		  GEMReadout Signal	 #Bits	 I/O
	 LCLK	 =>	 LCLK	 1	 In
	 SOFT_TRIGGER	 =>	 SOFT_TRIGGER	 1	 In
	 SOFT_TRIG_WORD	 =>	 SOFT_TRIG_WORD	 3	 In
	 HARD_TRIG_WORD	 =>	 HARD_TRIG_WORD	 3	 In
	 CLK	 =>	 PLLCLK	 1	 In
	 RESET	 =>	 RESET	 1	 In
	 HARD_TRIGGER	 =>	 HARD_TRIGGER	 1	 In
	 T1	 =>	 T1	 1	 Out

CLK Rising Edge?

HARD_TRIG Rising Edge?

T1_SHIFT_REG empty?

SOFT_TRIG Rising Edge?
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Bit shift 
T1_SHIFT_REG 

left by 1

T1 = T1_SHIFT_REG<2>

T1_SHIFT_REG = 
HARD_TRIG_WORD

T1_SHIFT_REG = 
SOFT_TRIG_WORD


